Name Date
Mass-to-Mass Stoichiometry Worksheet #1

In the following problems, calculate how much of the indicated product is
made. Show all of your work. '

1) If 200 g of magnesium react with excess hydrochloric acid, how many

grams of magnesium chloride will be produced?
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Mg + oHCl—  MgCl, + H,
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2) How many grams of aluminuri would be required to produce 550 g Fe
using the following reaction?
2Al + Fe,0,—> 3dFe+ ALO,
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3) Tf excess ammonium sulfate reacts with 20.0 g of calcium hydroxide,
how many grams of ammonia are produced?
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4) How many grams of sodium hydroxide are needed fo completely react

with 25.0 g of sulfuric acid in the following reaction?

T4 05.2 4
SNaGH +  H,SO,—  Na,SO, + oH,0

' f | VIOV e, Hy g |
fo 6o o ronot| 8 met oot | It Hadoy |95 ™T 150 4 |
| el e } Dl Fa B f%'r@"% 35"&;%5; j )SaoE |
| P



5) What mass of oxygen is needed to completely react with 84 9 gof Fe
according to the following reaction?
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6) Sodium oxide reacts with water to produce sodlum hydroxnde ‘What

mass of sodium oxide must be used to produce 275 grams of sodium
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7) When butane, C,H,,, burns in oxygen, the products are carbon dioxide
and water. What mass of carbon dioxide will be produced when 4.42 g of

butane is burned in excess oxygen? 2'3 ,
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